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Draw a cross section of a general cargo ship and name all parts.
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4- A ship arrives in port with displacement 6000 tonnes and KG=6m. She then loads and
discharges the following quantities:

Load 70 tons of fresh water KG=12.0 maters
980 tons of Cargo KG=4.25 maters
550 tons of Cargo KG=6.0 maters
700  tons of Cargo KG=1.0 maters
Discharges 1250 tons of Cargo KG=4.5 meters
645 tons of Cargo KG=3.5 meters
420  tons of Cargo KG=9.0 meters

During the port stay 30 tons of oil (KG=1 m) are consumed if the final KM is 6.8m,
find the GM on departure.
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5- A ship of 1500 tonnes displacement has KB 2.1 m, KG 2.7 m and KM 3.1 m and is
floating upright in salt water. Find the list if a weight of 10 tonnes is shifted transversely
across the deck through a distance of 10 meters.
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